RERBRRER FHIOK IR7E

EATREES
Fx GEMMEZEEZER SHMITE10820H

SEARTh SHEEEHR(N) BREER BER
No BEX 5 S g 5 S i g
1 KIFFEA 1,194] 1,258| 2,452 35 34 69 2.81%
2 KiFE2 1,025 1,044] 2,069 35 24 59 2. 85%
3 = 1,484] 1,578| 3,062 48 36 84 2. 74%
4 =852 1,335 1,415] 2,750 44 29 713 2. 65%
5 = X 1,318] 1,418] 2,736 51 32 83 3.03%
6 =Y 1,092] 1,170] 2,262 37 29 66 2. 92%
7 SEHARET R EE 1 1,568 1,644] 3,202 66 50 116 3.62%
8 SHERETEREE 2 1,759 1,892] 3,651 53 39 92 2.52%
9 SHARETEREES 1,929 1,952] 3,881 51 43 94 2. 42%
10 SHERETEREE 4 1,395 1,535 2,930 45 28 13 2. 49%
11 | ERRERAmIEERE 1| 1,6400 1,653] 3,293 54 41 95 2. 88%
12 | ERRR AL EREE2] 1,296] 1,384] 2,680 40 28 68 2. 54%
13 | AR AL ERE3| 1,6100 1,627 3,237 42 25 6/ 2.07%
14 | EERER AL ERZE4 592 621 1,213 36 28 64 5.28%
15 BEE 921 962| 1,883 31 22 53 2.81%
16 1BEE2 1,752 1,634] 3,386 37 20 57 1.68%
17 1BEES 867 886] 1,753 48 28 76 4.34%
18 1BEE4 822 874] 1,696 31 21 52 3.07%
19 ALEA 1,210( 1,228] 2,438 47 37 84 3. 45%
20 WIRZE2 1,459 1,527 2,986 58 25 83 2. 78%
21 ALE X 1,277 1,297 2,574 53 38 91 3. 54%
22 HIRZEL 1,192 1,309] 2,501 43 40 83 3.32%
23 WIRZES 995 1,062| 2,057 40 24 64 3.11%
24 FEHE1 1,545 1,563| 3,108 56 48 104 3.35%
25 FAHE2 815 833 1,648 31 19 50 3.03%

=k 32,082( 33,366| 65,448| 1,112 788| 1,900 2. 90%
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